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Question Number : 1 Question Id : 68019111444 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Name the moist heating method in which cooking 1s carried out in the minimum amount of

liquid at a temperature of 80°C-85°C.

. Simmering
. Stewing

. Poaching
4, Steaming

=
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Options :

68019145101. 1
68019145102. 2
68019145103. 3

68019145104. 4

Question Number : 1 Question Id : 68019111444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options:
68019145101. 1
68019145102. 2
68019145103. 3

68019145104. 4

Question Number : 2 Question Id : 68019111445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which way of coating food implies passing a food through a fine dry or powdery substance in
order to coat it?

1. Dredging
2. Marinating
3. Strmging
4. Folding

Options :

68019145105. 1
68019145106. 2
68019145107.3

68019145108. 4

Question Number : 2 Question Id : 68019111445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019145105. 1
68019145106. 2
68019145107. 3

68019145108. 4

Question Number : 3 Question Id : 68019111446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Egg proteins) (Properties)
A |Conalbumin I. |Interferes with absorption of wron
B. |Ovomucoid II. |Trvpsin inhibitor
o |Avidia 1 Consist ct:na'o _compunents G1. G2; and both are
excellent foaming agents
D. |Ovoglobulin I'V. |Binds biotin making the vitamin unavailable

Choose the correct answer from the options given below:

(A)-(I). (B) - (IT). (C) - (III). (D) - (IV)
A(A) - (I). (B) - (ITI). (C) - (II). (D) - (IV)
(A) - (I). (B) - (I1). (C) - (IV). (D) - (IIT)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)
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Options :

68019145109. 1
68019145110. 2
68019145111. 3

68019145112. 4



Question Number : 3 Question Id : 68019111446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (), (B) - (III). (C) - (1), (D) - (IV)
3.(A)-(), (B) - (11). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019145109. 1
68019145110. 2
68019145111.3
68019145112. 4

Question Number : 4 Question Id : 68019111447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the propellant gas used for pressurized packaged foods from the following options.

. Oxygen

. Carbon dioxide

. Hydrogen sulfide
. Sulphur gas

fad = =t

=

Options :

68019145113.1



68019145114. 2
68019145115. 3

68019145116. 4

Question Number : 4 Question Id : 68019111447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019145113. 1
68019145114. 2
68019145115. 3

68019145116. 4

Question Number : 5 Question Id : 68019111448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Freezer burn is produced due to which of the following reason?

. If thawing 1s not done

. When ice erystals melt

. When foods are desiccated

4. When ice crystals evaporate from the surface

| I
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Options :
68019145117. 1
68019145118. 2

68019145119. 3



68019145120. 4

Question Number : 5 Question Id : 68019111448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019145117.1
68019145118. 2
68019145119. 3
68019145120. 4

Question Number : 6 Question Id : 68019111449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The image given below is the structural formula of which amino acid?

8]

H;N— CH—C—— OH

CH,

1. Alanine

2. Leucine

3. Isoleucine
4. Methionine



Options :

68019145121. 1
68019145122. 2
68019145123.3

68019145124. 4

Question Number : 6 Question Id : 68019111449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:
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68019145121.1
68019145122. 2
68019145123. 3
68019145124. 4

Question Number : 7 Question Id : 68019111450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following types of chemical reactions does not occur in the TCA cycle?

. Hydrolysis

. Decarboxylation

. Phosphorylation

. Dephosphorylation

2 —
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Options :

68019145125. 1
68019145126. 2
68019145127. 3

68019145128. 4

Question Number : 7 Question Id : 68019111450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFrafafed § 9 oy yeR &1 e yidiearnd <1, 9. . = d 781 sidi 6?2

1. vie] HUHCH

[ i —
R GEARHE SN ERL
3. BIED TR
4. [awIEmieHRU

Options :

68019145125. 1
68019145126. 2
68019145127. 3
68019145128. 4

Question Number : 8 Question Id : 68019111451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Site for fatty acid biosynthesis within cell 18

1. Mitochondria
2. Ribosome

3. Cytoplasm

4. Chloroplast

Options :

68019145129. 1
68019145130. 2
68019145131. 3

68019145132. 4

Question Number : 8 Question Id : 68019111451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019145129. 1
68019145130. 2
68019145131.3
68019145132. 4

Question Number : 9 Question Id : 68019111452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following option 1s CORRECT with respect to allosteric inhibitor of an enzyme?

1. Binds to the active site

2. Participates in feedback regulation
3. Denatures the enzyme

4. Causes the enzyme to work faster

Options :

68019145133. 1
68019145134. 2
68019145135. 3

68019145136. 4

Question Number : 9 Question Id : 68019111452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019145133. 1
68019145134. 2
68019145135. 3

68019145136. 4

Question Number : 10 Question Id : 68019111453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to ICMR NIN, what 1s the Estimated Average Requirement (2024) of vitamin C
(ascorbic acid) for a lactating woman?

1. 80 mg/d
2. 85 mg/d
.90 mg/d
4. 95 mg/d

L]

Options :

68019145137. 1
68019145138. 2
68019145139. 3

68019145140. 4

Question Number : 10 Question Id : 68019111453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68019145137. 1
68019145138. 2
68019145139. 3
68019145140. 4

Question Number : 11 Question Id : 68019111454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which component of protein contributes to maximum percentage to total plasma protein?

1. Albumin

2. Globulin

. Fibrinogen
4. Prothrombin

L)

Options :

68019145141. 1
68019145142. 2
68019145143.3

68019145144. 4

Question Number : 11 Question Id : 68019111454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019145141. 1
68019145142. 2
68019145143.3

68019145144. 4

Question Number : 12 Question Id : 68019111455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ms X complains of passing clay coloured. bulky. greasy and foul smelling faces for last 2-3
days. most likely she is having

1. Malabsorption syndrome
2. Pancreatic insufficiency

3. Hepatitis

4. Obstruction of bile ducts

Options :

68019145145. 1
68019145146. 2
68019145147.3
68019145148. 4

Question Number : 12 Question Id : 68019111455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019145145. 1
68019145146. 2
68019145147. 3

68019145148. 4

Question Number : 13 Question Id : 68019111456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the steps of nutritional care process in correct sequence.

(A). Planning for nutritional care

(B). Identification of problems

(C). Assessment of nutritional status

(D). Implementation of nutritional care by determining nutritional interventions
(E). Evaluation of nutritional care

Choose the correct answer from the options given below:

L. (A). (E). (B). (C). (D).
2.(C). (B). (A). (D). (E).
3. (B). (A). (E). (D). (C).
4.(C). (B). (E), (D), (A).

Options :

68019145149. 1
68019145150. 2
68019145151. 3

68019145152. 4

Question Number : 13 Question Id : 68019111456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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4. (C). (B). (E). (D). (A).
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Options :

68019145149. 1
68019145150. 2
68019145151. 3
68019145152. 4



Question Number : 14 Question Id : 68019111457 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps for growth monitoring in correct sequence.

(A). Interpreting the direction of growth curve and recognizing if the cluld 1s growing properly
(B). Determining the correct weight of child

(C). Plotting the weight against age accurately on a growth chart

(D). Determining the correct age of the child

Choose the correct answer from the options given below:

Options:

68019145153. 1
68019145154. 2
68019145155. 3

68019145156. 4

Question Number : 14 Question Id : 68019111457 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faepT FRTemT @ =RuT 1 e o H ouaieyd #i |

(A) oI a5 I 31T B! TR AT 31K Ug UG b a1 ad P 3fad b 51 %61 o
(B) = @I Yo oM HYING Bl

(C) U [aPpTE ¢ TR I & YR o Bl G2l & Y TIC HLl

(D) T @1 g1 39 I HYRUT T

ﬁﬁmwﬁwﬁﬁﬂﬁsﬂ?ﬂﬁ:

(). ).(D
). (A
€
:

-l--..h..lla_.'ll—l
P | g—
-\_ﬁ’

f'_"\.r‘_"\.
'\-\_F"-\_F"'\-\_F"
— e —
Od oo
e et e ot

(D).
.(B).
ACH

e
P —
o o= o
"-\_ﬁ’
——

Options :



68019145153. 1
68019145154. 2
68019145155. 3

68019145156. 4

Question Number : 15 Question Id : 68019111458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are CORRECT with respect to parenteral nutrition?

(A). Provision of nutritional support through the gastro-intestinal tract or by accessing the gut
through a feeding tube

(B). Given intravenously and the gastro-intestinal tract is bypassed completely

(C). The nutrient solutions are itroduced directly into the blood stream through a catheter
(D). It is administered to patients who cannot eat or whose gastro-intestinal tracts are
dysfunctional

Choose the correct answer from the options given below:

A). (B) and (D) only.
.(B) and (D) only.
.(A) and (C) only.
.(B). (C) and (D) only.
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Options :

68019145157. 1
68019145158. 2
68019145159. 3

68019145160. 4

Question Number : 15 Question Id : 68019111458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IR U & Gey | Feifed § S e T eua 98l

(A) WTORE Uy & W1 F g7 U9l el & H1egH § 3Hid d6 Ug s UINul Setll Ggrad o
PIGEIGH

(B) i RRT H a1 SITer § iR W31 0y &l I ke 9 SIS (Srure) fean o

(C) TN ddl & O BI HeX & H1ead  Hiel v Yarg § S1a1 9l 5

(D) T8 37 ATl &1 fGu1 o & o @1 =81 9avdl & 11 foid Wiowia 7y Ay g1 §

9 feu e fadedi # 9 w8t SR -

&Had (A), ( B)aﬁ?LD)
%ﬂﬁﬁ(ﬁ IR (D
3. %ﬁﬁﬁ(a:aﬁ?
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Options :
68019145157. 1
68019145158, 2
68019145159. 3

68019145160. 4

Question Number : 16 Question Id : 68019111459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

[dentify the deficiency symptoms of niacin (vitamin B3).
(A). Casal's necklace

(B). Dementia

(C). Delirum

(D). Diarrhoea

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019145161. 1
68019145162. 2
68019145163. 3
68019145164. 4



Question Number : 16 Question Id : 68019111459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (A), (B) 3R (D)
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3. (A). (B). (C) 3R (D)

4.%dd (B). (C) AR (D)

Options:

68019145161. 1
68019145162. 2
68019145163.3

68019145164. 4

Question Number : 17 Question Id : 68019111460 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I[dentify among the following. which 1s NOT a common adulterant in coftee.

1. Chicory

2. Cassia bark

3. Starch

4, Tamarind or date-seed powder

Options :
68019145165. 1
68019145166. 2

68019145167. 3



68019145168. 4

Question Number : 17 Question Id : 68019111460 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019145165. 1
68019145166. 2
68019145167.3

68019145168. 4

Question Number : 18 Question Id : 68019111461 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following stain removal method needs to be adopted for lipstick stain?

1. Use of salt water

2. Soak in ammonia

3. Sponge with mentholated spirit
4. Wash with hot water and soap

Options:

68019145169. 1
68019145170. 2
68019145171.3

68019145172. 4

Question Number : 18 Question Id : 68019111461 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019145169. 1
68019145170. 2
68019145171. 3

68019145172. 4

Question Number : 19 Question Id : 68019111462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the characteristic features of disperse dyes.

(A). It dissolves 1n organic solvents

(B). There are two types - hot and cold method, cold dyeing 15 used in batik printing

(C). Water insoluble dyes, that dye synthetic polyester and acetate fibres and sometimes nylon
and acrylic fibers

(D). Non-ionic dyes having low molecular weight

Choose the correct answer from the options given below:

(A). (
(A (
3. (A).(
4.(B).(

and (D) only.

L. )
2 ) and (C) only.
)
)

(C) and (D).
and (D) only.

C
B
B
C
Options :

68019145173. 1
68019145174. 2
68019145175. 3

68019145176. 4



Question Number : 19 Question Id : 68019111462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019145173. 1
68019145174. 2
68019145175. 3

68019145176. 4

Question Number : 20 Question Id : 68019111463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
(Profession/occupation) (Criteria for selection of clothing)
A |Admietes I Space 5111r_s fitted with total life
support system
B. |Divers e Snug cotton clothing and avoiding
loose fitting clothes
C. |Astronauts ITI. [Highlv abhsorbent fabric
Home-maker working in the ol Fs o B
D itihes, IV, |Wet suits with slippers

Choose the correct answer from the options given below:

- (A) - (D). (B) - (I1). (C) - (TII). (D) - (IV)
(A)-(I). (B) - (IV). (C) - (IIT). (D) - (II)
(A)-(I). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

g b —

Options :

68019145177. 1
68019145178. 2
68019145179. 3

68019145180. 4

Question Number : 20 Question Id : 68019111463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 11t 11 9 i sl

Gl QI
CREIEIEEa) (TS & 707 & [T AFES)
A |fEerd I | gy oigd T9dH 47 T o fale g2
e i %ﬁ%@@w&fﬁﬁﬂ?ﬁﬁ?ﬁﬂﬁmﬂﬁ
C. |sfaRe ari 11 i Saeivd Hus
W B W3 H S B a1l - . 3
B | IV. [900d & T1Y Sa-RIH g2
T fgu U fooedl & € gt S+
1. (A) - (D). (B) - (I1). (C) - (1II). (D) - (IV)
2.(A)- (D). (B) - (IV). (C) - (I1I). (D) - (II)
3.(A) - (I). (B) - (II). (C) - (IV)). (D) - (III)
4.(A) - (III). (B) - (IV). (C) - (1), (D) - (II)
Options :

68019145177.1
68019145178. 2
68019145179. 3

68019145180. 4

Question Number : 21 Question Id : 68019111464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify the unfavourable properties of silk fibre.

(A). The fiber is susceptible to attacks by mildew. fungus. silverfish and bacteria

(B). Sensitive to heat

(C). The fiber has poor resistance to prolonged exposure to sun light and can be attacked by
moth

(D). Damaged by alkalis but resistant to acids

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.

2. (A). (B) and (C) only.

3.(A). (B). (C) and (D).

4. (B). (C) and (D) only.
Options :

68019145181. 1



68019145182. 2
68019145183. 3

68019145184. 4

Question Number : 21 Question Id : 68019111464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R0 T b Wi Ul B UgdH B
(A) TE T B, e, Reakither 3R feberujedi & gl & wiy sfodidesia g

(B) el & i HagTer §

() S O H T IH 0% U 1 AL & G T Xe- & Ui WIS R T § SRS
wmﬁmwwﬁ%

D) &R ¥ &faud dfdh 3 wicRieh

ﬁﬁﬁnﬂuﬁaﬁﬂﬁéﬂﬁeﬂ'ﬁﬁ

4, W(B )ahi
Options:
68019145181. 1
68019145182. 2
68019145183. 3

68019145184. 4

Question Number : 22 Question Id : 68019111465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which type of novelty yarns resemble caterpillars. as tufts of fibers are mnserted uniformly i the
yarn twist, perpendicular to the yarn?

1. Boucle yarns
2. Flock yarns

3. Chenille yarns
4. Ratine yarns

Options :

68019145185. 1
68019145186. 2
68019145187.3

68019145188. 4

Question Number : 22 Question Id : 68019111465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&g TR & fofr T geeil A firerd-oferd g1 ©. Fifey 39 o T T &0 8 &
¥ oTafda 93 ST o &

1. 990 I
2. Tl G
3. 9
FRGIEESE

Options :

68019145185. 1
68019145186. 2
68019145187.3

68019145188. 4

Question Number : 23 Question Id : 68019111466 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following 18 NOT a primary operation in the motions of the loom?

. Shedding
. Let off
3. Picking
4. Beating

= —

Options :

68019145189. 1
68019145190. 2
68019145191. 3

68019145192. 4

Question Number : 23 Question Id : 68019111466 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrEfafad 5 ¥ $H-TT 54U & 993 &1 Uh UHE S g1 87

1. diT-3{cfd-
2. Te-3H®
3.991

4. Q;Ifé
Options :
68019145189. 1
68019145190. 2
68019145191. 3

68019145192. 4

Question Number : 24 Question Id : 68019111467 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which type of knit fabric resembles a miniature honeycomb pattern and 1s vsually seen in
sportswear?

1. Pique

2. Jacquard knits
3. Jersey

4. Rib knits

Options :

el

68019145193. 1
68019145194. 2
68019145195. 3
68019145196. 4

Question Number : 24 Question Id : 68019111467 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mwmwg&naﬁw@ﬂgﬁm Tl o feeT € 3R SR R Wds el
US| H 4 ol 87

1. Ui

2. SIS TG

3. o7l

1. TR
Options :
68019145193. 1
68019145194. 2

68019145195. 3
68019145196. 4

Question Number : 25 Question Id : 68019111468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange commonly employed steps in printing the fabrics i order of their implementation.
(A). Drying

(B). Preparation of fabric and print paste

(C). Washing off and soaping treatment

(D). Fixing of dyestuff

(E). Printing of fabric

Choose the correct answer from the options given below:

Options :

68019145197. 1
68019145198. 2
68019145199. 3

68019145200. 4

Question Number : 25 Question Id : 68019111468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

o TS0 T G Y 3 ST wRUll 61 34 Sl & oy 3§ Haiford a1
(A) T

(B) BUS R TgUI AU B IUR DA

(C) YTg 3R I 4 IYAR

(D) ST T

(E) BUS B BUG

3 Ry e § & a@ SR

1. (A). (B). (C). (D). (E).

2. (A), (D), (E), (C), (B).

3.(B). (E). (A). (D). (C).
(C). (B). (E). (D). (A).

Options :

68019145197. 1

68019145198. 2

68019145199. 3



68019145200. 4

Question Number : 26 Question Id : 68019111469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the type of finish in which fabric 1s pressed by a roller which has fine diagonal lines
etched out on the surface producing smooth fabries with a soft lustre.

1. Napping
2. Gigging
3. Schremnering
4. Carbonising

Options :

68019145201. 1
68019145202. 2
68019145203. 3

68019145204. 4

Question Number : 26 Question Id : 68019111469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I TR & TREPRUI 1 TEH Y S8 PUS 1 U T AR GRT a1 S § fordep!
T8 T HeH [o®ul X Gl &, ol U ge! ana a1d HagH HUs 1 Sdled Il ol

1. S
2. ffiee
3. QISR
4, PIEHR

Options:

68019145201. 1
68019145202. 2
68019145203. 3

68019145204. 4



Question Number : 27 Question Id : 68019111470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following type of weave is used to prepare brocade. damask and brocatelle fabrics?

1. Dobby weave
2. Jacquard weave
3. Pile weave

4. Leno weave

Options:

68019145205. 1
68019145206. 2
68019145207. 3
68019145208. 4

Question Number : 27 Question Id : 68019111470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad 3 8 g YoR 1§15 &1 39aN s, G R sided HUS JUR B &
for e T &9

Options :

68019145205. 1
68019145206. 2
68019145207. 3
68019145208. 4

Question Number : 28 Question Id : 68019111471 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps involved in production of wool fibre in correct sequence.
(A). Shearing. grading and sorting

(B). Combing

(C). Carding

(D). Carbonisation

(E). Scouring

Choose the correct answer from the options given below:

1. (A). (B). (C). (E). (D).
2. (A). (E). (D). (C). (B).
.(B). (A), (D). (C). (E).
4. (E). (C). (B). (D). (A).

Taa

Options :

68019145209. 1
68019145210. 2
68019145211.3

68019145212. 4

Question Number : 28 Question Id : 68019111471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al X9 & IcdIeA H§ U IR0l &l Hel H T oUdiRd &1 |
(A) T, JUIHI0T IR BT
(B) bdd

(C) HeAH
(D)
(E)

2 feu e famedi & 9 |et SR -

1. (A). (B). (C). (B). (D).
2. (A), (E). (D). (C). (B).
3. (B). (A). (D). (C). (E).
4. (E). (C). (B). (D). (A).

Options :
680191452009. 1

68019145210. 2



68019145211. 3
68019145212. 4

Question Number : 29 Question Id : 68019111472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the characteristic features indicating chemical composition of silk.

(A). Has reactive carboxyl (COOH) and amino (NH,) groups

(B). Very few cross links between fibroin protein chains

(C).Van der Waal's forces predominate and play a sigmficant role

(D). Presence of hydrogen bonds gives a high degree of crystallinity and resultant strength
Choose the correct answer from the options given below:

1. (A)
2. (A)
3. (A)
4. (B)

.(C) and (D) only.
.(B) and (D) only.
_(B). (C) and (D).
.(C) and (D) only.

Options:

68019145213. 1
68019145214. 2
68019145215. 3
68019145216. 4

Question Number : 29 Question Id : 68019111472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I Pl TGS G DI SR arell [aRIvdTsd 1 ug = B

(A) WiiTeparsie Praiiedd (COOH) R 3HIAl (NH,) 998 §ld &

(B) BTEsifsa WIEH yEasl & did dgd »H IR U 8l §

(C) 31 SX a1 9 YW § IR UP Hgayqul Y] Fud §

(D) BIESIoH g1 &t SRl S TR ol foheediiaan 3R uRkum wifdd wer et
2 feu e fowedi § W@ SR

1. %ad (A). (C) 3R (D)
2. &ad (A). (B) 3R (D)
3.9 (A). (B). (C) IR (D)
4. %ad (B), (C) AR (D)

Options :

68019145213. 1
68019145214. 2
68019145215. 3

68019145216. 4

Question Number : 30 Question Id : 68019111473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following speciality hair fibre 1s obtained from rabbit?

. Alpaca
. Angora
3. Cashmere
4, Mohair

Options:

e

68019145217. 1
68019145218. 2
68019145219. 3

68019145220. 4

Question Number : 30 Question Id : 68019111473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

frafafed & | o a1 fa2y I9 §g T 3w fodr o 82

1. HHIP]

2. 3R

3. YR

4, T8
Options :
68019145217. 1
68019145218. 2
68019145219. 3

68019145220. 4

Question Number : 31 Question Id : 68019111474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the decorative strip worn in Post- Vedic Period 600-323 B.C.E and Maurya and Sunga
period. 321-72 B.C.E by women that was tucked at the centre front of the waist over the
antariya.

1. Kayabandh
2. Pratidln

3. Patka

4. Ushnisa

Options :

68019145221. 1
68019145222. 2
68019145223. 3

68019145224. 4

Question Number : 31 Question Id : 68019111474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



J-afee® P 600-323 591 90 SR HArd SR 1 PTe 321-72 9194 J AGA1sf gRI Tgeil
W aTell goflac] Uel T A1 ga1gU, o &R & di9 o Sdfgdr & 3uR §iuT S o)

1. PHAEY
2, Tfafe
3. 0]
4,375

Options :

68019145221. 1
68019145222. 2
68019145223. 3

68019145224. 4

Question Number : 32 Question Id : 68019111475 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Name the embroidery stitch given in the image below:

1. Lazy daisy stitch
2. Blanket stitch

3. Buttonhole stitch
4. Herringbone stitch

Options :

68019145225, 1
68019145226. 2
68019145227. 3

68019145228. 4

Question Number : 32 Question Id : 68019111475 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I S 71E ©fd § feu U TgTs & eid &1 19 9a1sU:

2
3
1. Tl SOt Tl
2. ®ihe TPl
3. §cdoid cidl
4 S
Options :

68019145225. 1
68019145226. 2
68019145227. 3

68019145228. 4

Question Number : 33 Question Id : 68019111476 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following 1s NOT a primary property of textile fibres?

1. Cohesiveness

2. Tenacity

3. Length to width ratio
4. Resiliency

Options :

68019145229. 1
68019145230. 2
68019145231.3

68019145232. 4



Question Number : 33 Question Id : 68019111476 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafaRad @ 9 1 91 a¥d <2 &1 U WIdie 701 951 52
1. GOSHdl
2. AT
3. WaTg 9 91518 $I 3
4, AdAgA
Options:
68019145229. 1
68019145230. 2

68019145231. 3

68019145232. 4

Question Number : 34 Question Id : 68019111477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Put the following steps of decision making process in sequential order.
(A). Evaluate the alternatives

(B). Identify the problem

(C). Evaluate the decision

(D). Identify the alternatives

(E.) Make a decision

Choose the correct answer from the options given below:

_(B). (C). (D). (A). (E)
_(B). (D). (A). (C). (E)
.(B). (A). (D). (C). (E)
.(B). (D). (A). (E). (C)

fag b2 —

=

Options:
68019145233. 1
68019145234. 2

68019145235. 3



68019145236. 4

Question Number : 34 Question Id : 68019111477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

futg o @t ufear & Fafefad =Rul & o0 § suafiud &4
(A) fas el &1 gegio

(B) 99 &I YgdH

(¢) Fuia &1 geis

(D) f[abedl & ggaH

(E) fAufg @A

-9 fEu T famedl ® 4 |8t SR -

. (B). (C). (D). (A). (E)
.(B). (D), (A). (C). (E)
(B). (A). (D). (C).(E)
4. (B). (D). (A). (E). (C)

o =

Taa

Options :

68019145233, 1
68019145234, 2
68019145235, 3

68019145236. 4

Question Number : 35 Question Id : 68019111478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
(Statistical test) {(Description)

Test of independence, and 1s used to estimate the
likelithood that some factor other than “chance’

A |Z-test L ; :
accounts for the observed relationship between
the variables
To determine whether the sample means differ
from one another (between group varnance) to a
B. t-test IL - group )

greater extent than the test scores differ from therr
own sample means (within group variance).

Used for testing the significance of the difference

C. |Chi-square test | [IL
e between the means of two large samples

Used for testing the significance of the difference
between the means of two small samples

D |F-test |

Choose the correct answer from the options given below:

1. (A)-(I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (D), (B) - (I1I), (C) - (IT), (D) - (IV)

3.(A) - (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)
Options :

68019145237. 1
68019145238. 2
68019145239. 3
68019145240. 4

Question Number : 35 Question Id : 68019111478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 151 gdt 11 ¥ [HaE $ifen

i T

W

AT BT T4, 3R SHHT SUTFT 39

HHIE &1 SIHM T o e e

A [Ssofigm | L [SrE i &9 " 9 aal 99y

@ fofg TONT 9 3R 25 3R PRD

fomeR 8

T R B & (o 1 a9 &

T T

&1 t 3+ bl DI Jai-l BG

B [ART | 1L | ot € 2, off o1y %6 & AT

gm.wﬁam%%@ﬁ?ﬂm

|

o <l &S AR o =1 ob &l SfeR &

C. | I1L. [AE@ &I YI&0 &3 & fe7U I9gi
[CRIEIGIN

Gl B T & A1 & 9 HR &

D. (vwgdigm | IV [AEa &1 ohiEm & & o gua

[CRIEIGIE

- feu e fasedl § 4 |8t SR -

1. (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A)- (D). (B) - (). (C) - (). (D) - (IV)
3.(A)- (). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options:

68019145237. 1
68019145238. 2
68019145239. 3

68019145240. 4

Question Number : 36 Question Id : 68019111479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI G
(Principle given by LIE".T I.I
Henry Fayol) ey L)
A set of activities having the same objective
A |Esprit de corps I. |should be under the direction of a single

manager

. iy . E.elatrve concentration of much authoritv in a
Scalar chain of . :
B II. |manager at anv managenal level but
command ; :
especially at the top managenial level

Implies 'in union there is a strength'; the
principle stresses the need for team spirit,
cordial relations and a cooperation among the
personnel

C. |Unity of direction | IIT.

Implies authority relationships from the top to

D. |Centralisation IV. e
the lowest echelons of an organisation

Choose the correct answer from the options given below:

. (A) - (1), (B) - (1), (C) - (II1), (D) - (IV)
(A) - (1), (B) - (III). (C) - (II), (D) - (IV)
(A) - (I). (B) - (ID). (C) - (IV). (D) - (III)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

b

L)

Options :

68019145241. 1
68019145242, 2
68019145243, 3

68019145244. 4

Question Number : 36 Question Id : 68019111479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 11t 11 9 i sl

T
i~ o

A oo St ; éﬁ?ﬂ%ﬁﬂ&ﬁﬁﬂﬁﬁ@ﬁﬁ%%@ﬁ%%ﬁﬁﬂﬁ

g ] eltepTy TR W Tife oy &0 3 i veed i TR R,
TEE & U S0 U § W SER G

; Thdl H T & 591 314 B T8 gl A HIe T, diereyul deie
o (R 3R B! o did TgaN B! ST W Wk odl 6

B. |3f1c¥ &l Thew 4 [ 1L

b. [t v [0 6 H R T T e TR @ HUmR Fel B A
EASI
T fgu U fooedl & ¥ wgt SW I+
1. (A) - (I). (B) - (I1). (C) - (II0). (D) - (IV)
2.(A)- (D). (B) - (IID). (C) - (D). (D) - (IV)
3.(A)- (D). (B) - (I0). (C) - (IV). (D) - (11D)
4.(A) - ), (B) - (IV). (C) - (I). (D) - (IT)

Options :

68019145241. 1
68019145242, 2
68019145243, 3

68019145244. 4

Question Number : 37 Question Id : 68019111480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I[dentify the different aspects that contribute to the family's hidden income.
(A). Household production

(B). Community facilities such as parks. roads ete.

(C). Capital gains income

(D). E1111310§,ree benefits such as gratuity. bonus ete.

(E). Consumer savings like buying at wholesale prices

Choose the correct answer from the options given below:

1. (B). (D) and (E) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.



Options :

68019145245. 1
68019145246. 2
68019145247. 3

68019145248. 4

Question Number : 37 Question Id : 68019111480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

URAR 1 {5l g3 31 T ARTEM &R ard [afis ugsi &1 gga o3|
(A) TR TG q

(B) HIHETU® JAUTY, SR UTs, GSd S1ie

(C) UoilTd &1y 31

(D) HHART ATH, O =T, TH 1S

(E) SUYIaT §9d, oY Ui Jed| IR WRIGR] BT

2 feu e fasedl & 9 |8t SR -

1. %ad (B). (D) 31X (E)
2.%qd (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4.%dd (B). (C) AR (D)

Options:

68019145245. 1
68019145246. 2
68019145247.3
68019145248. 4

Question Number : 38 Question Id : 68019111481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The process of combining two or more activities at the same tume 1s known as

. Work simplification

. Combimnation strategy
. Dovetailing

4. Activity management

L S ]

Options :

68019145249. 1
68019145250. 2
68019145251. 3

68019145252. 4

Question Number : 38 Question Id : 68019111481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% gt gag § 31 71 31 & e el & daiey o ulsa &t
& U H I A g

1. BT G
2. UioH 0ETD
3. SactaT

4. TTfafe wEeA

Options:

68019145249. 1
68019145250. 2
68019145251. 3
68019145252. 4

Question Number : 39 Question Id : 68019111482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following 1s NOT a feature of a typical work curve?

. Starts sluggishly followed by a sharp rise as worker gets into stride

. Saddle-backed curve

. Falling off in the middle of the spell with a fresh spurt as work nears its end
4. Find accelerating again at the last hour

| S

Laa

Options :

68019145253. 1
68019145254. 2
68019145255. 3

68019145256. 4

Question Number : 39 Question Id : 68019111482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frgfefad § @ @F 9 oy o1l o @1 te faemar =gl 82
1. T8 Qo3 B € 3R R il & 7fd s & qru gl aoh A Seg gian e

2. UST-44S a5
3. P @A B & A9 SR IR & 8 1 A0 38Td & a1y R
4. 3ifcm gg H g 1 U B

Options :

68019145253. 1
68019145254. 2
68019145255. 3

68019145256. 4

Question Number : 40 Question Id : 68019111483 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Identify the technique of work simplification given in the table below:

Left hand description Right hand description
1. |Bring Vegetable 00 % 00 A 1. |To keep Vegetable
2. |Brings tray {]{-}ﬂ ﬂ{-}ﬁ 2. |To hold tray
3. [Holds Vegetable| 00 , 00, 3. |To cut Vegetable

1. Process chart
2. Pathway chart
3. Operation chart
4. Multiman chart

Options :

68019145257. 1
68019145258. 2
68019145259. 3
68019145260. 4

Question Number : 40 Question Id : 68019111483 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al i 713 dIfcidT B D1 IR0 B dd-1d Bl UgdH P

q1e 214 BT [Aa0 1T 2TY BT [aa<0l

1. |gesl) & 00, 00, 1. |gedl] TEAT
2 [Zam 00, 00, 2. [udbs
3. [wsst g@we |00, 00, 3. | Hssil BleT

1. 9fehaT (M) 3T

2. 91yd 91e

3. giETe (STOREF) 91e

4. Aee i 91
Options :

68019145257. 1
68019145258. 2
68019145259. 3
68019145260. 4



Question Number : 41 Question Id : 68019111484 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s NOT a salient feature of Sukanya Samriddhi Account (SSA) scheme?

1. Minimum INR. 500/-and maximum INR. 1,20.000/- in a financial year

2. Withdrawal may be taken up to 50% of balance available at the end of preceding E.Y.
3. Deposit can be made maximum up to completion of 15 years from the date of opening
4. Closure on maturity after 21 years from the date of account opening

Options :

68019145261. 1
68019145262. 2
68019145263. 3

68019145264. 4

Question Number : 41 Question Id : 68019111484 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafaiad ¥ 9 o H o= YIS Erdl (THUE) g &1 7 faedr 18 82

1. Uah fawiia gy & =gad 500/- U 3R SH€HaH 1.20,000/- 3T

2. gdad! faw a8 & 3fd J Suae T9 R & 50% qB D BRI D of gad! o
3. W @leH &1 TRE Y 15 910 R 8 B (it qob I S B ol ¥l &
4. 91A1 WA P ARG 9 21 914 & 918 YRSl IR §5

Options :

68019145261. 1
68019145262. 2
68019145263. 3

68019145264. 4

Question Number : 42 Question Id : 68019111485 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Components like social class, life style and personality falls under which type of market
segmentation?

1. Demographic segmentation
2. Geographic segmentation

3. Psychographic segmentation
4. Behaviouristic segmentation

Options :

68019145265. 1
68019145266. 2
68019145267. 3

68019145268. 4

Question Number : 42 Question Id : 68019111485 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

;mﬂﬂm . Sfia Sl 3R faded oY Ued [ PR & aIoR WalHa- & 3iaild
1. SHYIRAS! W IHaA
2. Hiferd GatyaA
3, THIOI® @aIHa
4, TIGERAIS] G IHTH

Options :

68019145265. 1
68019145266. 2
68019145267. 3
68019145268. 4

Question Number : 43 Question Id : 68019111486 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
(Type of lighting) {(Description)

A |Task lighting L

Gives focused and brighter lighting to work
spaces using down lights, track lights, or lamps

Total light in anv room, also known as ambient

B. |General lighting | II. |.. ..
iSO lighting

Highlight works of art or architectural features
C. |Accent lighting | IIl. |and includes track lights, indirect lighting, or
wall-wash lighting

D Decorative v Focus 1s primarily on the light fixture itself and

" [lighting includes chandeliers and lamps

Choose the correct answer from the options given below:

. (A) - (1), (B) - (1), (C) - (II1), (D) - (IV)
(A) - (I). (B) - (III). (C) - (II), (D) - (IV)
(A) - (I). (B) - (ID). (C) - (IV). (D) - (III)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

b

L)

Options :

68019145269. 1
68019145270. 2
68019145271.3

68019145272. 4

Question Number : 43 Question Id : 68019111486 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 11t 11 9 i sl

el QI
e P U BT SUGN S DR Bl Diad AR
3131 W52, ¢ TIge Ty @I @l
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) - (). (C) - (III). (D) - (IV)
) - (IIT), (C) - (IT), (D) - (IV)
)()()(I‘»E(J(I)
B)- (ID)

)
),
).
I (IV). (C) - (I). (D) -

(A)-(@
(A) - (I
3.(A)-(I
4.(A) - (III)

(B
(B
(B
). (B)
Options :

68019145269. 1
68019145270. 2
68019145271. 3

68019145272. 4

Question Number : 44 Question Id : 68019111487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps of extension programme planning according to Sandhu's Model in correct
sequence.

(A). Execution of plan of work and evaluation

(B). Planning process

(C). Organisation for planning

(D). Plan of work

(E). Planned programme

Choose the correct answer from the options given below:

Options :



68019145273. 1
68019145274. 2
68019145275. 3

68019145276. 4

Question Number : 44 Question Id : 68019111487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y Hsd & HIUR [a%IR SHY e & 9R01 &I g1 H J Haiyd H1|
(A) BT IS BT (818 3R Jedid

(B) (1T Ufshan

(C) e & foau Fa

(D) BT TS

() o Prisy

-t feu e famedl § 9 et STR g:

1. (A). (B). (C). (D). (E)
2. (D). (E). (B). (C). (A)
3.(B). (A). (E). (D). (C)
4.(C). (B). (E). (D). (A)

Options :

68019145273. 1
68019145274. 2
68019145275. 3

68019145276. 4

Question Number : 45 Question Id : 68019111488 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the steps in making time plans in correct sequence.

(A). Listing all items of work. group them under flexible and nonflexible
(B). Determining time sequence and order of work

(C). Balancing estimated time with the total time available

(D). Writing out the plan

(E). Setting done and time required for each item of work

Choose the correct answer from the options given below:

1. (A), (B). (E), (C), (D)
2. (A). (E). (C). (B). (D)
3. (B). (E). (A). (D). (C)
4. (C). (B). (D). (A).(E)

Options :

68019145277. 1
68019145278. 2
68019145279. 3

68019145280. 4

Question Number : 45 Question Id : 68019111488 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ty [gTer § ifd 9vol & 95l 6 5 aaiid 31|

(A) P Faieft Tl 7311 1 il PR GU ST il AR IR-TI] & dad ailigd el
(B) 9 P 3R BT 31 B (e

(C) YT DT GG P 1Y AT T Bl FHeiferd oIl

(D) I fergHT

(E) Pr Saeft vl g & fere el SR smawasd s

9 U T fowedl H 8 wet SR -

Options :

68019145277. 1
68019145278. 2
68019145279. 3

68019145280. 4



Question Number : 46 Question Id : 68019111489 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following standardisation mark aims to make common standards of products and
services at international level for facilitating foreign trade and can be applicable on hospital.
insurance ete.?

1.1SO

2. 181

3. FPO

4. Ecomark

Options:

68019145281. 1
68019145282. 2
68019145283.3

68019145284. 4

Question Number : 46 Question Id : 68019111489 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad & & food areiow ¥ o1 35 fd<gil 2R ! Flause s & fig
SR TR R 3G AR a1 & Gy AHa! &1 RAd B § 3R 78 SR, di
311 TR AR &1 9l 7

1. AMSTF3 (1S0)
2. HTETHAHTE (IS1)
3. Y13l (FPO)
4, THIID

Options :

68019145281. 1
68019145282. 2
68019145283. 3

68019145284. 4



Question Number : 47 Question Id : 68019111490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following antibodies can easily cross the placenta?

1.1eG
2.I1gA
3.1eM
4.1gE

Options :

68019145285. 1
68019145286. 2
68019145287. 3

68019145288. 4

Question Number : 47 Question Id : 68019111490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

frafafaa § ¥ oF 3 ufarel smart S 119 &1 IR 3= 9%d 82

TS ol (1eG)
. STZIT (1gA)
(IgM)
4. 3Tgilg (IgE)

fag a3 —

Options :

68019145285. 1
68019145286. 2
68019145287. 3

68019145288. 4

Question Number : 48 Question Id : 68019111491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Rh negative individuals are those

1. whose serum contains no Rh antibody

2. whose RBCs contain antigen D

3. with absence of Rh antigen on their RBCs, membrane and their serum also contains no Rh
antibody

4. n whom the production of anti-D antibodies can be provoked by other blood groups

Options :

68019145289. 1
68019145290. 2
68019145291. 3
68019145292. 4

Question Number : 48 Question Id : 68019111491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3RUE (Rh) A AT a Eia €,

1. % OR9 § 3R (Rh) TiRe TEi Bl

2. for et 4t & ufdeH St () slaT

3. foridp Rt <, el 5 siRud (ru) wioeH @1 &4l gldl & 3R 390 4Ry H +f
RTT (Rh) TicRef TS gid

4. T/ 30 Xad THEI o BRI Uid-3 (D) Wikl &1 Id1EA 8 9avdl §

Options :

68019145289. 1
68019145290. 2
68019145291. 3

68019145292. 4

Question Number : 49 Question Id : 68019111492 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Name the diagram given below showing disease transmission routes and how the routes can be

o
NS

FAE
i HORT

\

1. The 6-F diagram

2. The F-diagram

3. The 6-F hygiene diagram

4. The disease transmission route diagram

Options :

68019145293. 1
68019145294. 2
68019145295. 3
68019145296. 4

Question Number : 49 Question Id : 68019111492 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



37T TR T SR 3 5 @) $Y g S o 9o 8, & fog ard AR fRRr Tu sRa e
CIGRIE Y

NS

N

1. 6-F3NE

2. F-3IRE

3. 6-F Wl HRG

4, 7SRO AT ARG

Options :

68019145293. 1
68019145294. 2
68019145295. 3

68019145296. 4

Question Number : 50 Question Id : 68019111493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The Scheme of Continuing Education was launched in which year?

1. 1995
2. 1994
3. 1996
4. 1997

Options :

68019145297. 1
68019145298. 2
68019145299. 3
68019145300. 4



Question Number : 50 Question Id : 68019111493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yaid T& &1 Do forg ad = &1 T 21

1985
. 1994
. 1996
4. 1997

Options :

b

L]

68019145297. 1
68019145298. 2
68019145299. 3

68019145300. 4

Question Number : 51 Question Id : 68019111494 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What was the core focus of Constitution's Seventy Third Amendment Act, 19927

1. Promotion of self-help groups
2. Women empowerment

3. Establishment of Panchayati Raj Institutions
4. Prolubition of clild labour

Options :

68019145301. 1
68019145302. 2
68019145303. 3

68019145304. 4

Question Number : 51 Question Id : 68019111494 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Sfqur & 739 SN HUFTH, 1992 ST YT [d9g @1 U
1. 90 eIl GHg! &1 gerdl -1
2. Higa geiaaam ]
3. GOt e SRITEHT Bl TG
4. §TC1 49 GR Hidae
Options :
68019145301, 1
68019145302, 2
68019145303. 3

68019145304. 4

Question Number : 52 Question Id : 68019111495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following scheme aims at providing financial support for pregnant and lactating
mothers to improve the health and nutrition for mother and child as well as compensation for
wage loss?

1. Pradhan Mantri Surakshit Matritva Abhiyan (PMSMA)

2. Pradhan Mantr1 Matru Vandana Yojana (PMMVY)

3. Pradhan Mantri Digital Saksharta Abhiyaan (PMGDISHA)
4, Janani Shishu Suraksha Karyakaram (JSSK)

Options :

68019145305. 1
68019145306. 2
68019145307. 3

68019145308. 4

Question Number : 52 Question Id : 68019111495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019145305. 1
68019145306. 2
68019145307. 3
68019145308. 4

Question Number : 53 Question Id : 68019111496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If size of the audience is small and geographically concentrated. the preferable extension method
would be

1. Individual contact method

2. Mass contact method

3. Group and mass contact method
4. Group contact method

Options :

680191453009. 1
68019145310. 2
68019145311.3
68019145312. 4

Question Number : 53 Question Id : 68019111496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. g iR oH 99 fafd
4. 99 U fafy
Options :

68019145309. 1
68019145310. 2
68019145311. 3
68019145312. 4

Question Number : 54 Question Id : 68019111497 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What type of evaluation 1s carried out at the initial stage of the programme?

1. Summative
2. Rational

3. Formative

4. Performance-appraisal

Options :

68019145313. 1
68019145314. 2
68019145315. 3

68019145316. 4

Question Number : 54 Question Id : 68019111497 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. RINTES
2. AhYTTd
3. TS
4. TITEA-Hgaie
Options :
68019145313, 1
68019145314, 2
68019145315, 3
68019145316. 4

Question Number : 55 Question Id : 68019111498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The specialization of functions of two hemispheres of cerebral cortex is called as

. Functionalism

. Structuralism

. Lateralization

. Psychological organisation

2 =

o g

Options :

68019145317. 1
68019145318. 2
68019145319. 3

68019145320. 4

Question Number : 55 Question Id : 68019111498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. WA

3. UrfiaRu
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Options :

68019145317. 1
68019145318. 2
68019145319. 3

68019145320. 4

Question Number : 56 Question Id : 68019111499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Put Sigmund Freud’s five stages of psychosexual development in correct sequence.
(A). Latency stage

(B). Phallic stage

(C). Anal stage

(D). Genital stage

(E). Oral stage

Choose the correct answer from the options given below:

1. (E). (C). (B). (A). (D)
2. (B). (A). (E). (C). (D)
3. (E). (A). (C). (D). (B)
4. (C). (B). (E). (D). (A)

Options :

68019145321. 1
68019145322, 2
68019145323.3
68019145324. 4

Question Number : 56 Question Id : 68019111499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

RS WIS & BT [dar &1 uid sfawuTael &l Sfad SHwHH & araieyd |

1. (E)
2. (B).
3. (E),
4.(C).

G,
(A).
(A
(B

Options:
68019145321. 1
68019145322. 2

68019145323. 3

68019145324. 4

Question Number : 57 Question Id : 68019111500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The ecological system theory defines which of the following systems influencing child
development?

(A). The Chronosystem

(B). The Ethnosystem

(C). The Exosystem

(D). The Mesosystem

Choose the correct answer from the options given below:

(B). (C) and (D) only.
(A). (C) and (D) only.
3.(A). (B). and (D) only
4.(A). (B) and (C) only.

1.
2

Options :
68019145325. 1
68019145326. 2

68019145327. 3



68019145328. 4

Question Number : 57 Question Id : 68019111500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IRRyfere womelt R arel faere &t yutfdd @ art Fafeiad & 9 o 9 6 ()

(A) BIFIGEY
(B) TyHIREH
(C) Uy
(D) 4Ry
4l feu e fodedl 4 @ W@t I
1. &ad (B), (C) 3R (D)
2. (A). (C) 3R (D)
3.9ad (A). (B). 3R (D)
4. %99 (A), (B) IR (C)
Options :

68019145325. 1
68019145326. 2
68019145327. 3
68019145328. 4

Question Number : 58 Question Id : 68019111501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to E. Mavis Hetherington’s, which of the following common pathways are adopted by
men and women for exiting divorce?

(A). The defeated (difficulty coping because of divorce)

(B). The competent loners (little interest in sharing their lives with anyone else)

(C). The not-good enoughs (unable to solve problems, not able to make new friends)

(D). The enhancers (grew more competent, well-adjusted. and self-fulfilled with remarkable
ability to bounce back)

Choose the correct answer from the options given below:

B). (
A), (
A). (
A).(

.(B). (C) and (D) only.
.(A), (B) and (C) only
3.(A). (B) and (D) only.
4. (A). (C) and (D) only.
Options :
68019145329. 1
68019145330. 2
68019145331. 3

68019145332. 4

Question Number : 58 Question Id : 68019111501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3. B0 guRITed & SFER, T01® 9 SR Faar & fog Tou S/ afgarst gri FafiRad
T3 $F T IH AR AU O

A) TR (T@T & BRU 3 ail H1o-Tg)

B) W&, 3{aal g+ aTel (3T Sifae @l (el SR & H1Y I $ H dgd HH ¥1d 6 ©)
C) T et (Freafl & gd en  orgnd, 70 ga 91 § Jem e
(D]@E%H%H&iﬂ. 3B e T TATGI, AR T R U & Sie e g
HH-

< feu e fodedi § € wgt SR -
1.%ad (B). (C) 3R (D).
2. 394 (A), (B) 3R (C)
3. 394 (A), (B) 3R (D).
4.%ad (A), (C) AR (D).
Options:

68019145329. 1

68019145330. 2



68019145331. 3
68019145332. 4

Question Number : 59 Question Id : 68019111502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Form of Marriage)| {Description)
A }'Ienoga.muu; I. |Marryving within the group
B. |Polyandrous II. |Marrving outside the group
C. |Exogamous ITI. |One woman marrving many men
D. |[Endogamous | IV. |One man marrying one woman

Choose the correct answer from the options given below:

(A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
(A)-(I). (B) - (ITI). (C) - (II). (D) - (IV)
(A)-(IV). (B) - (III). (C) - (II). (D) - (I)
. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)

| S

e o

Options:

68019145333. 1
68019145334. 2
68019145335. 3

68019145336. 4

Question Number : 59 Question Id : 68019111502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 151 gdt 11 ¥ [HaE $ifen

I I
ﬁaﬂrm ?n:;h
A |u@faaE! 1 |9gg & idR fdame &A1
B. [¥gufda IL. |5HE & S8R WG] Bl
ol IEEIGIE: 1L U HigaT &1 ds goul 9 fddre &
D. |gerrdy IV. |0 Q%N &1 U Afgal U fdarg &A1

-t fau T o ed § O 9t SR I:
L. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A)- (1), (B) - (1II). (C) - (I1). (D) - (IV)
3. (A)-(IV), (B) - (III), (C) - (11), (D) - (I)
4. (A) - (II1). (B) - (IV). (C) - (1). (D) - (I)

Options :

68019145333, 1
68019145334. 2
68019145335. 3

68019145336. 4

Question Number : 60 Question Id : 68019111503 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Age group) {Milestones of Language Development)
A |1- 6 months I. |First word spoken
B. |8-12 months II. |Cooing and babbling
c |13 months 1 R?p1d_expan=3mn of understanding words and
two-word utterances
D. |18-24 months | IV |Comprehension of words

Choose the correct answer from the options given below:

1. (A) - ). (B) - (II). (C) - (IV). (D) - (III)
2.(A) - (I). (B) - (). (C) - (II). (D) - (IV)
3.(A)-(I). (B) - V). (C) - (). (D) - (11I)
4. (A) - (D). (B) - (I). (C) - IV). (D) - (IIT)

Options :



68019145337. 1
68019145338. 2
68019145339. 3

68019145340. 4

Question Number : 60 Question Id : 68019111503 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 8 €1 T S T e I o iU e 1T faery & usial 9§ el |

I 11
e%ﬁaﬁ mmﬁg;gqﬂsm
A |16TEH 1. |TEel Siel 741 Wk
B [8-12HEH 11 |feeichA1 3R gaciHl
C. [13 98+ 1. |Sreal &1 YU 3R &l Weal & IR0 &l ol I [a%R
D. |18-24 HEH | IV, |real @1 9HE

e feu e foeedl 7 9 HEt SR T

. (A) - (I). (B) - (II). (C) - (IV). (D) - (IIT)
. (A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)
. (A) - (D). (B) - (IV). (C) - (1), (D) - (III)
. (A) - (D). (B) - (D). (C) - (IV). (D) - (III)

g b2 —

=

Options :

68019145337. 1
68019145338. 2
68019145339. 3

68019145340. 4

Question Number : 61 Question Id : 68019111504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Name the research design which permits the study of relationshup between variables as they
occur or without altering their experiences.

1. Longitudinal study
2. Experimental study
3. Cross-sectional study
4. Correlational study

Options :

68019145341. 1
68019145342. 2
68019145343, 3

68019145344. 4

Question Number : 61 Question Id : 68019111504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 3FTHYH 1Y &1 11 Sa15U o 58 =R &1 gUIiEied, a1 30! s ¥ fodl ggad &
o, S < Feell & e 9 R S B

1. 3Fae] Sy
2. WIS 30y
3. WidfAfee 3w areH
4, JEHeY ey

Options :

68019145341. 1
68019145342. 2
68019145343. 3
68019145344. 4

Question Number : 62 Question Id : 68019111505 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
(Developmental Period) (Erikson’s stages)
7 chi (pres rears, 3 : : .
A Ear_l}_ otildhood tpresshionl yrars, I |Intimacy versus isolation
to D vears)

B. |Middle adulthood (40s, 50s) II. |Intiative versus gult

C. |Early adulthood (20s, 30s) i [2utamany warma shinme.an
doubt

D. |Infancy (1 to 3 yvears) IV GEHEI&FITIW o2
stagnation

Choose the correct answer from the options given below:

. (A) - (D). (B) - (IV). (C) - (I). (D) - (I1I)
. (A) - (). (B) - (IIT). (C) - (II). (D) - (IV)
(A) - (). (B) - (II). (C) - (IV). (D) - (I1I)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

g b —

Options :

68019145345. 1
68019145346. 2
68019145347. 3

68019145348. 4

Question Number : 62 Question Id : 68019111505 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 H & ] [ Sfaft o1 geitan 3 U 10 URaEH & Rigid & 9=l & 91y

ENIEEE]
T T I
e safy TN & W0

A, |URYS STedrawy] (aidererdi ay, 3 U 5 q8)| 1 [feReTar s 3rea
B. [men qamr (40.50) I1. {78 M STy
C. |urf¥e qowmd (20.30) 111, ["GTdT &9 9 3R Teg
D. |STeura=y (1 93 W) IV [GoTdddl 8914 3830
4 feu o fosedl & @ w8t S T

1. (A) - (II). (B) - (IV). (C) - (I). (D) - (III)

2.(A)-(I). (B) - (IID). (C) - (I). (D) - (IV)

3.(A)- (D). (B)-(II). (C)-(IV). (D) - (11I)

4.(A) - (III). (B) - (IV). (C) - (I). (D) - (II)
Options :

68019145345. 1
68019145346. 2
68019145347. 3
68019145348. 4

Question Number : 63 Question Id : 68019111506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A pre-term infant has a gestational age of less than

1. 33 weeks
2. 42 weeks
. 37 weeks
4. 40 weeks

Options :

L]

68019145349. 1
68019145350. 2
68019145351. 3
68019145352. 4



Question Number : 63 Question Id : 68019111506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP 917094 vrd | o Ry oot mfared = omg BEZ KGRI

1. 33 didlg
2. 42 d4dlg
3.3749udlg
4. 40 Ttdlg
Options :

68019145349. 1
68019145350. 2
68019145351. 3

68019145352. 4

Question Number : 64 Question Id : 68019111507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s NOT a reflex?

1. Moro

2. Grasping

3. Babinski

4. Blinking of eyes

Options :

68019145353. 1
68019145354. 2
68019145355. 3
68019145356. 4

Question Number : 64 Question Id : 68019111507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
fFafafad § 9 &H w gfaad Tel 8

1. ° R}

2. Yh s

3. gifd@|

4. G HIH]

Options :

68019145353, 1
68019145354, 2
68019145355, 3

68019145356. 4

Question Number : 65 Question Id : 68019111508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Extension education 1s primarily considered as

. Formal education
Adult education

. Informal education

4. Non-formal education

b =

L]

Options :

68019145357. 1
68019145358. 2
68019145359. 3

68019145360. 4

Question Number : 65 Question Id : 68019111508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



iR [Riem &l g = 4 & EYH AAI S g |

3oy farar

. Uie faran

. 3ATgE e
4, TR-3io=riye farad

Options :

o b2 —

68019145357. 1
68019145358. 2
68019145359. 3

68019145360. 4

Question Number : 66 Question Id : 68019111509 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s the largest school feeding programme in India?

. Sukanya Samriddhi Yojana

. PM Poshan

3. Ayushman Bharat - Pradhan Mantri Jan Arogva Yojana
4. Beti Bachao Beti Padhao

Options :

| R

68019145361. 1
68019145362. 2
68019145363. 3

68019145364. 4

Question Number : 66 Question Id : 68019111509 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



frafefed 5 @ &F 91 YRd &1 989 937 f[deadt gy sRiegH 82

1. gob-01 9fs gier

2. 4ud gy

3. 3 YRA-HYHHAT S 3R Tief
4. 9t S=ei &1 Ugrsi

Options :

68019145361. 1
68019145362. 2
68019145363. 3

68019145364. 4

Question Number : 67 Question Id : 68019111510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the programme given in List-I with the issue dealt by it in List-II

List-1 List-IT

(Programme/Scheme) (Objective)

A | [ Prp'x'ide elementary education including life
skalls
Providing not less than 100 days of unslkilled

8. licDs I ﬂ.lanua.l w?rlc asa guar_a.nteed emplm’ment ina
financial year to every household in rural
areas

c lvexrEGA e Lnn.'e:tsal access t? equitable, affordable and
quality health services

D. |ssa v Im_prm'e Fhe nu‘mnon_al and hea_ltl_l st_ams of
children 1n the age group of 0-6 vears

Choose the correct answer from the options given below:

. (A) - (IT). (B) - (V). (C) - (I). (D) - (IIT)
(A) - (D). (B) - (IV). (C) - (I). (D) - (II)
. (A) - (D). (B) - (IV). (C) - (II). (D) - (I)
4. (A) - (IT). (B) - ). (C) - (IV). (D) - (III)

|

LI}

Options :
68019145365. 1
68019145366. 2

68019145367. 3



68019145368. 4

Question Number : 67 Question Id : 68019111510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

11 5 fau Ty e 1 e el § R 3 o)

A |TTaTg I |ofig @1 gfed URMAS I8 TeH &3
7T & H vde TRaR &l 0 faedig ad H TREAdd IR & T H 100
B |oediciey | 1 et & 31 T 3 Ta 31 &1 YeH B
C. [mm TI1. [T, ferthraedt ofR urarqyl wared Tarstt o Qv ugd
D. |Tqudy IV |09 6 96 o 3G &l o sl & UIN0] FR T i Rl # quR

4 feu U oot & € wgt S+
L. (A) - ). (B) - (IV). (C) - (D). (D) - (1II)
2. (A)- (II). (B) - (IV). (C) - (I). (D) - (II)
3.(A)- (D). (B) - (IV). (C) - (I). (D) - (T)
4.(A)-(I). (B) - (I). (C) - (IV). (D) (III)
Options

68019145365. 1
68019145366. 2
68019145367. 3
68019145368. 4

Question Number : 68 Question Id : 68019111511 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the principles of adult learning given by Knowles?
(A). Adults are relevancy oriented

(B). Adults are internally motivated and self-directed

(C). Adults believe in memorising the facts

(D). Adults are goal oriented and practical

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019145369. 1
68019145370. 2
68019145371.3

68019145372. 4

Question Number : 68 Question Id : 68019111511 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafefad # 9 &H ¥ 91 gR1 feu T 903 a1 & fgid 31
(A) TUEH FRAHd 3@ 8l &

(B) IO 3fidRe ¥ I URd 3R MA-FERIT a8

(C) TUH Tl & T4 3@ T fay™¥ a3d &

(D) T%H T&d 39 3R AGEIRD &ld ©

-2 fau e fomedl 7 9 HEt SR T

1. 4d (A), (B) 3R (D)
2.%ad (A). (B) 3R (C)
3.%ad (A). (B). (C) 3R (D)
4. %4d (B). (C) 3R (D)

Options :

68019145369. 1
68019145370. 2
68019145371.3

68019145372. 4



Question Number : 69 Question Id : 68019111512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following learning experiences from bottom to top as per Edgar Dale's Cone of
Experience.

(A). Demonstrations

(B). Field trips

(C). Exhibits

(D). Dramatised experiences

Choose the correct answer from the options given below:

Options :

68019145373. 1
68019145374. 2
68019145375. 3
68019145376. 4

Question Number : 69 Question Id : 68019111512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiad die & s4al &1 TSTR 3¢ & $fIHT & T & IR A1 4 FWR & hd H
EIGRIRERY

(A) BENE
(B) BItS oR
(C) UaR A
(D) TePIT 3HT
4 feu T foded! 4 ¥ W@t SR :
1.(B). (C). (A). (D)
2. (A), (C), (D). (B)
3. (D). (A). (B). (C)
4.(D). (B). (A). (C)

Options:



68019145373. 1
68019145374. 2
68019145375. 3

68019145376. 4

Question Number : 70 Question Id : 68019111513 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
{(Community Development (Associated person for
Programme) inception)
A |Marthandam Project I. |Eabindra Nath Tagore
B. |Gurgaon Project II. |Dr. Spencer Hatch
C. |Sriniketan Project ITT. |Lt. Col. Albert Mavor
D. |Etawah Pilot Project IV. |FE.L Bryne

Choose the correct answer from the options given below:

(A)-(I). (B) - (III). (C) - (IV). (D) - (II)
- (A) - (D). (B) - (IV). (C) - (I). (D) - (III)
3.(A) - (ID). (B) - (I). (C) - (II). (D) - (IV)
4.(A) - (IV). (B) - (I). (C) - (II). (D) - (III)

a3 =

Options :

68019145377. 1
68019145378. 2
68019145379. 3

68019145380. 4

Question Number : 70 Question Id : 68019111513 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g1 &1 gal-11 & 91y [AaE &2

II
_ |Asn ufae L |TEiE A1y &R
. IL. 3] T ed
- |Fifdaa ufmiemr | 1L | @A d. siead 3R
 |3eTar urEe ufEieE| v, (U, ue. gE

-t fau T o ed § O 9t SR I:

1. (A) - (I). (B) - (III). (C) - (IV). (D) - (II)
2. (A)-(11). (B) - (IV). (C) - (1). (D) - (1II)
3. (A) - (III). (B) - (I). (C) - (II). (D) - (IV)
4. (A)-(IV). (B) - (D). (C) - (II). (D) - (ITI)

%

Options :

68019145377. 1
68019145378. 2
68019145379. 3

68019145380. 4

Question Number : 71 Question Id : 68019111514 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are examples of fourth generation media?
(A). Mobile applications

(B). Exhibits

(C). Tele-lectures

(D). Internet TV

(E). Podcasts

Choose the correct answer from the options given below:

1. (A). (C). (D) and (E) only.
2.(A). (B). (D) and (E) only.
3. (A). (C) and (D) only.
4. (A). (D) and (E) only.

Options:
68019145381. 1

68019145382. 2



68019145383. 3

68019145384. 4

Question Number : 71 Question Id : 68019111514 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁa@@aﬁ@@?ﬁﬁﬁméﬁ%m$mﬁ?
(A) HidEd T b

(B)

(C) S-S

(D) §e3Ae <ial

(E) ISR
-9 fau e fdeedl & 9§ |el S| 41

1. 34d (A). (C). (D) 3R (E)
2.%ad (A). (B). (D) 3R (E)
3.%ad (A). (C) 3R (D)
4. %4 (A). (D) 3R (E)

Options :

68019145381. 1
68019145382. 2
68019145383. 3

68019145384. 4

Question Number : 72 Question Id : 68019111515 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many phases of Panchayati Raj were identified in Ashoka Mehta's (1978) Report of the
Committee of Panchayati Raj Insitutions?

1. Three
2. Four
3. Two
4. Five
Options:



68019145385. 1
68019145386. 2
68019145387. 3

68019145388. 4

Question Number : 72 Question Id : 68019111515 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T Tl @1 (1978) T X1a SRl 1 ifa 31 RUiE § g I & o <Rl
CARETIE AR

1.4

2.dR

3.4

4.4
Options:
68019145385. 1
68019145386. 2
68019145387. 3

68019145388. 4

Question Number : 73 Question Id : 68019111516 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following method depends on the 'Learning by Doing' principle?

. Method demonstration
. Campaign

3. Result demonstration
4. Exhibition

Options :

| R

68019145389. 1

68019145390. 2



68019145391. 3

68019145392. 4

Question Number : 73 Question Id : 68019111516 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019145389. 1
68019145390. 2
68019145391. 3

68019145392. 4

Question Number : 74 Question Id : 68019111517 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following programmes provide micro-credit to poor women?

1. Mahatma Gandhi Mahila Yojana
2. Mahila Samaj Samriddhi Yojana

. Jawahar Rozgar Yojana
4. Rashtriya Mahila Kosh

L]

Options :

68019145393. 1
68019145394. 2
68019145395. 3
68019145396. 4



Question Number : 74 Question Id : 68019111517 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019145393. 1
68019145394. 2
68019145395. 3
68019145396. 4

Question Number : 75 Question Id : 68019111518 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among the following are used for assessing reliability of a research tool?
(A). Test-retest

(B). Parallel-form

(C). Split-half

(D). Concurrent

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019145397. 1
68019145398. 2
68019145399. 3

68019145400. 4



Question Number : 75 Question Id : 68019111518 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A) RIEU-T:Te0

(B) THMIR-&Y
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1. %ad (A), (B) 3R (D)
2. 354 (A), (B) 3R (C)
(A). (B). (C) 3R (D)
(B). (C) 3R (D)
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Options :

68019145397. 1
68019145398. 2
68019145399. 3
68019145400. 4



